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Chapter 07 A& 5A

7.1
Command Window
»> 5 = "MATLAE is useful "
»> 81 = 5(1:6)
2l o=
"HATLAR
*> 52 = 5(8:9)
52 =
g
*» 33 = 5(11:end)
ad =
‘useful’
7.2

Command Window

ez = Ordxi
z =

3.0000 + 4, 0000
ez = Otd+]

Z:

3.0000 + 4, 0000
¥z = g+di
Z:

3.0000 + 4,0000i
*» z = complex(3, 4]
s =

3.0000 + 4,0000i
> c_z = conifz)
c_z =

3.0000 - 4,0000i




7.3

[ cos_dm -I + |

1 function v = cos_dix)
2= v = cos{{pi/180)+x1);

Fol7 A7te] 4wg A4z AYstel AEAATF cos d T DUE D e

Command Window
»» cos_d( [0, 30, 45,60,90] )
ans =
1, 0000
0., 8660
0, 70
0. 5000
0, 0000
7.4
| factorial.m .| + |
1 function F = factarialin)
2 - F=1;
3 - i=1;
4 — while i <=n
F— F=F=+i:
B - =0+ 1;
T - end
8- end

T 378 Fhell Wit Ass Artstd o= 2

Command Window

= factorial{0)

B

B

-n
|

»» F = factarial(l)

*» F = factorial{3)




7.5

| fibom | + |
B function F = fiboin)
2 - if (n<=1)
3 - F=n:
d - else
5 - F = fiboln - 1) + fiboln - 2};
E - end
A% 370 W3 A A Pl O Huu FAe dAsE et ¢

Command Window

»» F = fibo(0)
1]
*» F = fibo(1)
F =
1
»» F = fibo(2)
F =
1
*» F = fibo(10)
F =
55
7.6
| bicoef.m ] + |

1 function C = bicoefin,k)

2 — if (k==0011 (k ==nj

3 - C=1;

4 — glseif k >n

b - C=0;

6 — else

T|= C = bicoefin-1,k} + bicoaf(n-1,k-1);
8- end




et
W

0
1

bicoef(d,0)

*» 0 = bicoef(2,4)

C =
1]
*» 0 = bicoef(4d,2)
L=
G
7.7
| Pastri.m [ + |
[ 1 - Clfor n=0:7
2 - C=11;
3 - for k = 0:n
4 - C = [C, bicoef(n,k)]:
h - end
B - disp(Cl;
T - end

o) % for ol ng Ak W for ol kE X4}l

A e 2

Command Window

»» Pastri
1

1
1
1
1
1
1
1

2 M M = L ra —
fup)

15 B |
w2 7 i

o



7.8

| Prms_ma.m .I + |
1 function [R.M] = Prons_ma(x)
B|= R = rmsix);
8= M= malxl;
4 function ¥ = rmsix)
5 - y = sqrtisuniabs(x). "2} / length(x));
G function v = mal(x)
= y = sumfabs(x)) / length(x);

ARG GrE 2B A et 2

Command Window

*» x = -hib;
=» [R,M] = Prus_maix)
B =
31623
W =
2,723
7.9
| Him 2| + |
K function [L,H] = H_.L{first, second)
g - if first < second
3 - L =firgt:
4 — H = second;
- else
E - L = gecond;
Y- H=first:
8- end
g — end




Command Window

*» [L,Hl = H_L(E, 8]
L =
5
H =
a
»» [L,Hl = H_L(5,2]
L =
2
H =
9
7.10
| dotprod.m '| + |
1 function D = dotprod({4,B)
2|l= n = length(A):
3 - D =n0:
4 - for i =1:n
E - D= D+alid=Bli);
B — end

Command Window

»» 0 = dotprod( {1 2 -3].[0 -4 1])
b=
=11




7.11

| crossprod.m .| + |
1 function C = crossprodid,B) =
B|l= n = length{4);
a - ifn==
4 - &30 = 05
5 - B{3) = 0;
B — end
7 - Ci1) = A(2)+B(3)-A4(31+B(2);
8- Cl2) = AC3)+Bl1)-A(10+B(3);
9 - C(3) = AC1)+B(2)-A(2)+B(1]};

279 Fol7l MEE o g3l WMEl 9L T Az wE ok,

Command Window

7.12
| exchangem .I ex_rate.m 'I + |
1 function [0, ¥] = exchange({won, dollarPwon, wenPwon) =
2 - U = won+daollarPwon;
3- Y = won+venPwon:
4 — end

Astell 193 Dol S&S wotd AA 2eE dal, ddfel 143 e da=
o

wotd A As

| ex_ratem .| + |
U= won = input( Total amount of Korean Won: '); =
2 - dallarPwon = 1/1204;
4 - venPwan = 1/10,79;
4 - [0, ¥] = exchange{won, dallarPwon, venPwon);
B|= fprintf( ' This is ¥6.2f dollar #n', D):
B - fprintf{ ' This is ¥5.0f ven #n", Y);




g3}t 100,000 9=

Command Window

»= BH_rate
Total amount of Korean Won: 100000
This is 83.06 dallar
This is 9268 ven
7.13
| dworder.m [ + |
1 function v = dworder(x) =
2|= n = lengthix);
3 - for i = 1:p-1
4 - T=wuli);
B|= for J = i+l:m:n
B - if o)) =T
7 - wii) = =(i);
B - w(j) =T;
3= T ==xlil;
10 - end
1 - end
12 - end
13 - y = %;
Fol wide] daF 7P 2 88 HH 7MY A& 15 744 WAk 2 Ajujd sl

ehd

Command Window

FE K

[61 B1 42 39 B8 71 45 B2 88 85 15 73 78 34 BY)];
==y = dworder(x)
y

Columns 1 throuah 13
atsl 85 A 73

Columns 14 through 15
34 15

) B9 B2 E5 51

51 45 4z 39




7.14

| recTpol.m [ + |

1 function [r,argl= recTpol(x,v) =

B|= ro= sqri{x" 2y 2);

7= arg = acos{abs(x)/ri+180/pi;

4 - if (w < 0) & (v > 0)

5 - arg = 180 - ara;

= elseif (x < 0) & (v < 0)

T - arg = 180 + ara;

A= elseif (x =00 & (v < 0)

9 - arg = -arg;

10 - else

11 - end
247be] ApRwe] 91718 4 e Bads 7=3+ j4, 2=-3+ j4, 2=-3— j4,
723 j4% AQse] 9 F Fale] =27 2 A4S Y AnE woFuh

> [r,arg] = recTpal(3,4)
r:

arg =
53,1301

== [r,arg]l = recTpal({-3,4)

r:

5
arg =
126, 8639
*» [r,arg]l = recTpal(-3,-4)
ro=

5
arg =
233, 13M
> [r,arg] = recTpal(3,-4)
ro=

2]
arg =
-53.13M




7.15

| nroot.m [ + |
1 function nrootic, n, =0, e) ™|
i
3 - wo = x0;
4
5 - i =10 % to count the number of iterations
G
7= wn = w0 - (c—xo0™n)/ (-n+{x0”(n-131); % Newton's method
a
g|= fprintf{" it wn iterations "J;
10 - fprinti( #n #t #t s
11
= while {abs{xn - x0)) > e
13 - RO = ®0;
14 — wn = w0 — [c-x0™n)/ (-nelxo™in-110);
15 — i= 0+
16 - end
17 - i=1+1;
18 — fprintf #n %20, 201 HAdn’, m=n, J3;
63 Mo &4 oa 10°F wEshs V8ol o] gro] AxH:, W] Y8 <
= = 7 ox o

Command Window
> nroot(8,2,1,10"-6)
wn iterations
2. 8284271 2474619029095 G
> nroot(3,3,1,10%-6)
B iterations
2. 00000000000000000000 7




